Efficiency vs dr

0.02
<
9.018
8.016
c
(0]
'©.014
=
®.012
0.01
0.008
0.006
0.004
0.002

1.0

Ratio

[y
TTTT] T T

o
©
a

=
S
w

1
TP min AR

[ Efficiency vs dr (track,jet) |
.§0.01
d).009
E
Q.OOS
9.007
>
$9.006
2
35=@.005
@
0.004
0.003
0.002
0.001
e

Ratio
N

0.95

1072 107
AR(TP, jet)

=
S
w

Efficiency vs pu
5 0.0

2 e

i T S S S
L S R SR SUE IR St S
) : : : : : :

F R L A S S
= : : : : : :

LS S B R R
0,005+ oovbors b f
0,004+ oosfors b f
O IS AR SR AL S (A

0.002 P
0.001 oo
|

0
il

Ratio

114




	Contents
	Page 1


